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SUMMATIVE ASSESSMENT - I, 2015-16
MATHEMATICS
Class - IX
Set - 1 ‘ ,
Time Allowed: 3 hours " Maximum Marks: 90

Ceneral Fa-'ruclions:

1. All questions are compulsory.

2 The question paper consisis of 31 guestions divided into four sections A, B, C and D.
Section-A comprises of 4 guestions of 1 mark cach; Section-B comprises of 6 queslions
of 2 marks each; Section-C comprizes of 10 questions of 3 marks each and Section-D
comprises of 11 questions of £ marks each,

3 There is no overallcholce n this question paper.

4 Use of calculator 15 not permitted.
SECTION-A
Question rambers 1 to 4 carry one mark each.
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2 Find f(vZ), #ffixi=a*4 2 x+1. - !
3 Twu supplementary angles are in the ratio 2 : 7. Find the measures of angles. |
4 I x#y, then {x, ¥)=(y. 2) or not ? 1
SECTION-B
Question numbers 5 to 10 carry two marks each.
5 Simplify: 76 — 6 3343 +18x §283 — /1% =
& Factorise & 7

4x1 5+ 0y +162% + 120y — 24y7 — 16z
Also mention the identity used. )
7 In the figure if AB=CD, prove that AC=BD. State Fuclid axiom, which is applicable here. z
A ERE T
. 8 In A ABC, AD is Lhe bisecior of #BAC. Prove that AB>BD.
g In the given fipure of a circle, write the coordinates of the points where circle mecis the axes,
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Find the area of an isosceles triangle whose one side is 4 m grealer than ite equal side and
perimeter iz 40 m.

SECTION-C
Question numbers 11 to 20 carry three marks e3ch.
: i 3 9
Find three irrational numbers betwesn = and i - #
ll' L
1 1

sy —
Show that (x "y ~. ¥y — =F

[i71y! " 2y
b

ﬁ N
Find the product of !ra % |{ra 4 l]{az + 1—JLa" 4 %Jum'.nga suitable identity -

31 = EI2 a

= Qwhere x and y are posilive real numbers.

Factorise : (x—2yP +{2y—32)* + (37 —x)*

In a Triangle ABC, X and ¥ are the points on AB and BC such that EX=FBY and AB=BC
Show that AX=0CY, State the Euclid's Axiom Used.

WXYZ is & quadrilateral whose diagonals intersect each other at the point O such that OW=0xX=0L
if £OWX=50%, then find the measure of LOZW.

In the figuwe, the side QR of APOR i produced to a point 5. If the bisectors of #POR and

£PRS meet ata point T, then prove that Z0TE= % LOPR.

P
Q [ S
In the figure, lines AB, CF and DE meet at 0. Determine the value of .
C D
e W POAN
A B

I
n which quadrant or on which axis do the poinis (=2 —) (2 &) (8 —2) and (4, —6) lie ?
Verify your answer by localing them on the cartesian plane. :

Find the area of a trapezium in which parallel sides are of lengths 5'cm and 11 cm, whereas
non-parallel sides are of lengths £ cm and 5 cm.

SECTJON-D
Crestion numbers 1 to 31 carry four marks each.
Give two rational numbers whose :
i) difference is a rational nuzmber (i) sum isa rational number
(i) productis a rational number (iv} division is a rational number
Tustify also.

1
Rationzlise the denominator of - 3
e 57 +-J6—13
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Prove that ; 4
+y)+ @y +zP S P St + ) =2 4 1 425 —Bayz)

If the polynomials ax® + 3" — 13 and =" — 5x + 3 are divided by {x— 2), the remainder is ame. Find
the value of 2.

Verily if %anri - %HIE zeroes of the palynomial 80— 43— 182+ 9. If yes, then factorise the
p-ﬁ.‘_]r'nunﬁa_l,

=Y

Without actually calculating Lhe cubes, firwi the value of 4
203 + {05 +05P + (=073 + [~ 0.8 Alsg write the Sderiity nsed.

P

Thereis a tmangular pﬂrimwh:ﬁeanghs POandRaremratio2:4:3 respectively, Three
[riends Rashmi, Sita and Geeta go daily on moming walk and walk alemg these three side PO,
QR and FR respecavely. Who walks maximum distance amomnyg these three 7 Who walks
least 7 Why moming walk = necessary fior us 7

Itic known that if o+ b = 10 then o+ b—c =10 — . Write the Eudlid™s axiom that best illustrates this 4
statement. £.so give two more axioms other than the axiom ueed in the sbove situatior..

In given figure AB || CD, CD || EF and EA | AB. If Z/BEF=45 find the values of sy and z a
AT - E
D
.-’/ {
By E i .
! :
In the given figure, < B=~C and AE bisccis ACAD. Prove that AF s parallel to side BC, 4
D
/A/__}
B C . |
4

The angles of a triangle are (x—40)°, (x—20)° and (% —1I}]" Find the valee of x and then the
angles of the trangle.



